I <EX 1ELEHE>

(RHR AR

Igh [Fmvy| K248 | BS EFE F4 | [E% | YDS| F#|LONG| TB | 20y
1| A | BEX | 22 [lLA /RES 4 10| 424/42.4 | 59 2| 2
2| B WEKX | 85 [tAt it 3 19| 771/40.6 | 66| 0] 6
3| A EtéE | 27 |MEA BE 4 9| 363[40.3 | 53 1 5
41 A BEX | 7 |KAR 3 6| 228/38.0| 67 0 3
5 B E¥K | 86 |z B 3 18| 674(37.4 | 63 2| 7
6 B BEX | 138 |RE #H0 4 13| 479[36.8 | 59 1 1
71 A Ets | 2 [%8 E# 4 9| 326/36.2| 46| 0] 2
8| A #WZz) | 83 | I& 4 25| 802|32.1 9 0o 2
9| B BiAKX | 28 |mE K& 3 19| 603(31.7 | 471 o 7
10| A EBEX | 3 | B 3 15| 459/30.6 [ 46 0] 2

FEHIE  <E¥ 1BEXREHE>

I8 [Frvy| K248 | BS EF 4 F4 | [# | YDS| FH |LONG| TB | 20y
1] A RN | 25 |BoT B 2 2| 65/32.5 | 50
2| B BiAK | 85 |# X 1 1| 23|23.0| 23
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